



SKEWNESS OF BANAŚ-FRĄCZEK SPACE

KEN-ICHI MITANI

ABSTRACT. Let $s(X)$ be the skewness of a Banach space X . In this paper, we compute the $s(X)$ -constant for X being Banaś-Frączek space \mathbb{R}_λ^2 , where $\lambda > 1$. Moreover, it is shown that the inequality $s(X) \leq 2\rho_X(1)$ is strict for such a space X , where ρ_X is the modulus of smoothness of X .

1. INTRODUCTION AND PRELIMINARIES

Throughout this paper, let X be a real Banach space with $\dim X \geq 2$, $S_X = \{x \in X : \|x\| = 1\}$ and $B_X = \{x \in X : \|x\| \leq 1\}$. The *skewness* of X was introduced by Fitzpatrick-Reznick [3], as follows:

$$s(X) = \sup \{ \langle x, y \rangle - \langle y, x \rangle : x, y \in S_X \},$$

where

$$\langle x, y \rangle = \|x\| \lim_{t \rightarrow +0} \frac{\|x + ty\| - \|x\|}{t}$$

for $x, y \in X$ (cf.[9]). Clearly, $0 \leq s(X) \leq 2$ for all spaces X . It is known that $s(X) = 0$ if and only if X is a Hilbert space. The skewness for X being L_p spaces were computed. Some geometrical properties of X can be characterized by means of $s(X)$. In fact, it was shown that $s(X) < 2$ if and only if X is uniformly non-square, that is, there exists a $\delta > 0$ such that for any $x, y \in S_X$, either $\|x + y\| \leq 2(1 - \delta)$ or $\|x - y\| \leq 2(1 - \delta)$ ([3]). Moreover, it is known that

$$(1.1) \quad s(X) \leq 2\rho_X(1)$$

for any Banach space X , where ρ_X is the modulus of smoothness of X ([2]). In [11], Yang introduced the Banaś-Frączek space \mathbb{R}_λ^2 , i.e., the space \mathbb{R}^2 with the norm $\|\cdot\|_{\lambda,2}$ defined by

$$\|(x, y)\|_{\lambda,2} = \max \{ \lambda|x|, \|(x, y)\|_2 \},$$

where $\lambda > 1$ (see also [1]). As stated in [8], this space may be considered as a generalization of Day-James space $\ell_2\text{-}\ell_1$. Indeed, $\mathbb{R}_{\sqrt{2}}^2$ is isometric to $\ell_2\text{-}\ell_1$. Recently, Mitani-Saito-Komuro [7] computed $s(X)$ -constant for X being $\ell_p\text{-}\ell_1$, where $1 \leq p \leq \infty$ (cf. [2, 8]).

2020 *Mathematics Subject Classification.* 46B20.

Key words and phrases. Banaś-Frączek space, modulus of smoothness, skewness.

The author was supported in part by Grants-in-Aid for Scientific Research (No. 21K03275), Japan Society for the Promotion of Science.

In this paper, we compute $s(X)$ -constant for X being \mathbb{R}_λ^2 . This calculation method is similar to that of $s(\ell_p\text{-}\ell_1)$ in [7]. Indeed, as in [7], we will use the following result in [3]; for any Banach space X ,

$$(1.2) \quad s(X) = \sup\{x^*(y) - y^*(x) : x, y \in S_X, x^* \in D(X, x), y^* \in D(X, y)\},$$

where $D(X, x)$ is the set of all norming functionals of x . We first determine the dual norm of $\|\cdot\|_{\lambda,2}$ and the set $D(\mathbb{R}_\lambda^2, x)$. By using this result and (1.2), we can obtain the value of $s(\mathbb{R}_\lambda^2)$ for all $\lambda > 1$. As an application, we discuss the inequality (1.1) for a Banach space X and prove that the inequality (1.1) is strict under the case $X = \mathbb{R}_\lambda^2$.

We recall some definitions and notations. Throughout this paper, we denote by \mathbb{R} and \mathbb{R}^+ the set of real numbers and non-negative real integers, respectively. An element $x^* \in S_{X^*}$ is said to be a *norming functional* of $x \in X$ with $x \neq 0$ if $x^*(x) = \|x\|$. The *modulus of smoothness* of X is defined by

$$\rho_X(\tau) = \sup \left\{ \frac{\|x + \tau y\| + \|x - \tau y\|}{2} - 1 : x, y \in S_X \right\}, \quad \tau \geq 0.$$

It is well-known that X is uniformly non-square if and only if $\rho_X(1) < 1$ (see [10]). For $1 \leq p, q \leq \infty$, the norm $|\cdot|_{p,q}$ on \mathbb{R}^2 is defined by

$$|(x, y)|_{p,q} = \begin{cases} \|(x, y)\|_p & xy \geq 0 \\ \|(x, y)\|_q & xy \leq 0, \end{cases}$$

where $\|\cdot\|_p$ is ℓ_p -norm on \mathbb{R}^2 . The space $(\mathbb{R}^2, |\cdot|_{p,q})$ is called the *Day-James space* and is denoted by $\ell_p\text{-}\ell_q$ (cf. [4]).

2. RESULTS

The following lemma is an improvement of (1.2), which is useful for computing the constant $s(\mathbb{R}_\lambda^2)$.

Lemma 2.1 ([6], Lemma 3.3). *Let $X = (\mathbb{R}^2, \|\cdot\|)$. Then*

$$s(X) = \sup\{s(X, x, y) : x, y \in \text{ext}(B_X) \cap \mathbb{R} \times \mathbb{R}^+\},$$

where

$$s(X, x, y) = \sup\{|x^*(y) - y^*(x)| : x^* \in D(X, x), y^* \in D(X, y)\}$$

and $\text{ext}(B_X)$ is the set of all extreme points of B_X .

Let $\|\cdot\|_{\lambda,2}^*$ be the dual norm of $\|\cdot\|_{\lambda,2}$, that is,

$$(2.1) \quad \|(x, y)\|_{\lambda,2}^* = \sup\{|xz + yw| : (z, w) \in \mathbb{R}^2, \|(z, w)\|_{\lambda,2} = 1\}$$

for $(x, y) \in \mathbb{R}^2$.

Lemma 2.2. *Fix $t > 0$. We define a function*

$$(2.2) \quad f(s) = ts + \sqrt{1 - s^2}, \quad 0 \leq s \leq 1.$$

Then f is strictly increasing on $(0, \alpha)$ and is strictly decreasing on (α, ∞) , where $\alpha = \frac{t}{\sqrt{t^2+1}}$.

Proof. The derivative of f is

$$f'(s) = t - \frac{s}{\sqrt{1-s^2}}.$$

Hence, if $0 < s < \alpha$, then $f'(s) > 0$ and if $\alpha < s$, then $f'(s) < 0$. This completes the proof. \square

Using this lemma we can determine the norm $\|\cdot\|_{\lambda,2}^*$.

Proposition 2.3. *Let $\lambda > 1$. Then*

$$\|(x, y)\|_{\lambda,2}^* = \begin{cases} \frac{1}{\lambda}|x| + \sqrt{1 - \frac{1}{\lambda^2}}|y|, & \text{if } \sqrt{\lambda^2 - 1}|x| \geq |y| \\ \sqrt{x^2 + y^2}, & \text{if } \sqrt{\lambda^2 - 1}|x| \leq |y| \end{cases}$$

for any $(x, y) \in \mathbb{R}^2$.

Proof. Put $\alpha = \frac{t}{\sqrt{t^2+1}}$. Let f be the function as in (2.2). By (2.1) we have $\|(|x|, |y|)\|_{\lambda,2}^* = \|(x, y)\|_{\lambda,2}^*$ for any $(x, y) \in \mathbb{R}^2$. Hence it is enough to show that for all $t > 0$,

$$\begin{aligned} \|(t, 1)\|_{\lambda,2}^* &= \sup\{|tz + w| : (z, w) \in \mathbb{R}^2, \|(z, w)\|_{\lambda,2} = 1\} \\ &= \begin{cases} \frac{t}{\lambda} + \sqrt{1 - \frac{1}{\lambda^2}}, & \text{if } t \geq \frac{1}{\sqrt{\lambda^2-1}} \\ \sqrt{t^2 + 1}, & \text{if } t \leq \frac{1}{\sqrt{\lambda^2-1}}. \end{cases} \end{aligned}$$

Take $(z, w) \in \mathbb{R}^2$ with $\|(z, w)\|_{\lambda,2} = 1$. It follows from the definition of $\|\cdot\|_{\lambda,2}$ that $\lambda|z| \leq 1$ and $\sqrt{z^2 + w^2} \leq 1$. Namely, $|z| \leq \frac{1}{\lambda}$ and $|w| \leq \sqrt{1 - z^2}$. Hence

$$|tz + w| \leq t|z| + |w| \leq t|z| + \sqrt{1 - z^2} = f(|z|).$$

Let $t \geq \frac{1}{\sqrt{\lambda^2-1}}$. Then $|z| \leq \frac{1}{\lambda} \leq \alpha$. By Lemma 2.2,

$$f(|z|) \leq f\left(\frac{1}{\lambda}\right) = \frac{t}{\lambda} + \sqrt{1 - \frac{1}{\lambda^2}}.$$

Thus

$$|tz + w| \leq \frac{t}{\lambda} + \sqrt{1 - \frac{1}{\lambda^2}}.$$

We have equality in above when $z = \frac{1}{\lambda}$ and $w = \sqrt{1 - \frac{1}{\lambda^2}}$.

Let $t \leq \frac{1}{\sqrt{\lambda^2-1}}$. Then $|z| \leq \alpha \leq \frac{1}{\lambda}$. By Lemma 2.2,

$$f(|z|) \leq f(\alpha) = t\alpha + \sqrt{1 - \alpha^2} = \sqrt{t^2 + 1}.$$

Thus

$$|tz + w| \leq \sqrt{t^2 + 1}.$$

We have equality in above when $z = \frac{t}{\sqrt{t^2+1}}$ and $w = \frac{1}{\sqrt{t^2+1}}$. This completes the proof. \square

In the following, we shall determine norming functionals of \mathbb{R}_λ^2 . Let $\lambda > 1$. For $0 \leq \theta < 2\pi$, we put $z(\theta)$ as

$$z(\theta) = \frac{(\cos \theta, \sin \theta)}{\|(\cos \theta, \sin \theta)\|_{\lambda,2}}.$$

It is clear that

$$(2.3) \quad \text{ext}(B_{\mathbb{R}_\lambda^2}) \cap \mathbb{R} \times \mathbb{R}^+ = \{z(\theta) : \theta_\lambda \leq \theta \leq \pi - \theta_\lambda\},$$

where $\theta_\lambda = \tan^{-1} \sqrt{\lambda^2 - 1}$. Note that

$$z(\theta_\lambda) = (\cos \theta_\lambda, \sin \theta_\lambda) = \left(\frac{1}{\lambda}, \sqrt{1 - \frac{1}{\lambda^2}} \right).$$

Lemma 2.4. *Let $\lambda > 1$.*

(i) *If $\theta_\lambda < \theta < \pi - \theta_\lambda$, then*

$$D(\mathbb{R}_\lambda^2, z(\theta)) = \{z(\theta)\}.$$

(ii) *If $\theta = \theta_\lambda$, then*

$$(2.4) \quad D(\mathbb{R}_\lambda^2, z(\theta_\lambda)) = \left\{ \left(\frac{\mu}{\lambda} + (1 - \mu)\lambda, \mu\sqrt{1 - \frac{1}{\lambda^2}} \right) : 0 \leq \mu \leq 1 \right\}.$$

(iii) *If $\theta = \pi - \theta_\lambda$, then*

$$(2.5) \quad D(\mathbb{R}_\lambda^2, z(\pi - \theta_\lambda)) = \left\{ \left(-\frac{\mu}{\lambda} - (1 - \mu)\lambda, \mu\sqrt{1 - \frac{1}{\lambda^2}} \right) : 0 \leq \mu \leq 1 \right\}.$$

Proof. (i) Let $\theta_\lambda < \theta < \pi - \theta_\lambda$. Then $z(\theta) = (\cos \theta, \sin \theta)$. By $\|z(\theta)\|_{\lambda,2}^* = \|z(\theta)\|_2^* = 1$ and $\langle z(\theta), z(\theta) \rangle = 1$, it follows that $z(\theta)$ is a norming functional of $z(\theta)$. Since $z(\theta)$ is a point of smoothness of $B_{\mathbb{R}_\lambda^2}$, we obtain (i).

(ii) Let $\theta = \theta_\lambda$. Take any $\alpha = (a, b) \in D(\mathbb{R}_\lambda^2, z(\theta_\lambda))$. Then we have

$$\begin{aligned} 1 &= \langle (a, b), z(\theta_\lambda) \rangle \leq \langle (|a|, |b|), z(\theta_\lambda) \rangle \\ &\leq \|(|a|, |b|)\|_{\lambda,2}^* \|z(\theta)\|_{\lambda,2} = \|(a, b)\|_{\lambda,2}^* \|z(\theta)\|_{\lambda,2} = 1, \end{aligned}$$

which gives $|a| = a$ and $|b| = b$. Hence $a \geq 0$ and $b \geq 0$. We also have $\|(a, b)\|_{\lambda,2}^* = 1$ and

$$(2.6) \quad 1 = \langle \alpha, z(\theta_\lambda) \rangle = \frac{a}{\lambda} + \sqrt{1 - \frac{1}{\lambda^2}} b.$$

Hence, it follows from Proposition 2.3 that $\sqrt{\lambda^2 - 1} a \geq b$. Namely, $a \geq \frac{b}{\sqrt{\lambda^2 - 1}}$. This inequality and (2.6) imply that

$$1 = \frac{a}{\lambda} + \sqrt{1 - \frac{1}{\lambda^2}} b \geq \frac{b}{\lambda\sqrt{\lambda^2 - 1}} + \sqrt{1 - \frac{1}{\lambda^2}} b$$

and so $b \leq \sqrt{1 - \frac{1}{\lambda^2}}$. Here, we put $b = \mu\sqrt{1 - \frac{1}{\lambda^2}}$, where $0 \leq \mu \leq 1$. Then we have by (2.6),

$$a = \lambda - b\sqrt{\lambda^2 - 1} = \lambda - \mu\sqrt{1 - \frac{1}{\lambda^2}}\sqrt{\lambda^2 - 1} = \frac{\mu}{\lambda} + (1 - \mu)\lambda.$$

Thus we can write

$$(a, b) = \left(\frac{\mu}{\lambda} + (1 - \mu)\lambda, \mu\sqrt{1 - \frac{1}{\lambda^2}} \right).$$

Conversely, take any μ with $0 \leq \mu \leq 1$. It is easy to see that

$$\left(\frac{\mu}{\lambda} + (1 - \mu)\lambda, \mu\sqrt{1 - \frac{1}{\lambda^2}} \right) \in D(\mathbb{R}_\lambda^2, z(\theta_\lambda)).$$

Thus we get (2.4).

In the same way, we can obtain (iii). □

We now show the main theorem.

Theorem 2.5. *Let $\lambda > 1$.*

(i) *If $\lambda \geq \sqrt{2}$, then $s(\mathbb{R}_\lambda^2) = 2 \left(1 - \frac{1}{\lambda^2} \right)$.*

(ii) *If $\lambda \leq \sqrt{2}$, then $s(\mathbb{R}_\lambda^2) = \sqrt{\lambda^2 - 1}$.*

Proof. Let $X = \mathbb{R}_\lambda^2$. Lemma 2.1 and (2.3) yield that

$$(2.7) \quad s(X) = \sup \{s(X, x, y) : x = z(\theta), y = z(\theta'), \theta, \theta' \in [\theta_\lambda, \pi - \theta_\lambda]\},$$

where

$$s(X, x, y) = \sup\{|x^*(y) - y^*(x)| : x^* \in D(X, x), y^* \in D(X, y)\}.$$

Let $x = z(\theta)$ and $y = z(\theta')$, where $\theta, \theta' \in [\theta_\lambda, \pi - \theta_\lambda]$. Take any $x^* \in D(X, x)$ and $y^* \in D(X, y)$. It is enough to consider the following cases:

Case 1: $\theta_\lambda < \theta, \theta' < \pi - \theta_\lambda$. By Lemma 2.4 it follows that $x^* = z(\theta)$ and $y^* = z(\theta')$. Hence we have

$$x^*(y) - y^*(x) = \langle z(\theta), z(\theta') \rangle - \langle z(\theta'), z(\theta) \rangle = 0,$$

which gives $s(X, x, y) = 0$.

Case 2: $\theta = \theta_\lambda, \theta_\lambda < \theta' < \pi - \theta_\lambda$. Then $x = z(\theta_\lambda) = \left(\frac{1}{\lambda}, \sqrt{1 - \frac{1}{\lambda^2}} \right)$ and $y = z(\theta') = (\cos \theta', \sin \theta')$. By Lemma 2.4, we have $x^* = \left(\frac{\mu}{\lambda} + (1 - \mu)\lambda, \mu\sqrt{1 - \frac{1}{\lambda^2}} \right)$ and $y^* = z(\theta') = (\cos \theta', \sin \theta')$, where $0 \leq \mu \leq 1$. Hence,

$$\begin{aligned} & x^*(y) - y^*(x) \\ &= \left\langle \left(\frac{\mu}{\lambda} + (1 - \mu)\lambda, \mu\sqrt{1 - \frac{1}{\lambda^2}} \right), (\cos \theta', \sin \theta') \right\rangle \end{aligned}$$

$$\begin{aligned}
& - \left\langle (\cos \theta', \sin \theta'), \left(\frac{1}{\lambda}, \sqrt{1 - \frac{1}{\lambda^2}} \right) \right\rangle \\
&= \left(\frac{\mu}{\lambda} + (1 - \mu)\lambda \right) \cos \theta' + \mu \sqrt{1 - \frac{1}{\lambda^2}} \sin \theta' - \frac{1}{\lambda} \cos \theta' - \sqrt{1 - \frac{1}{\lambda^2}} \sin \theta' \\
&= -(1 - \mu) \sqrt{1 - \frac{1}{\lambda^2}} \left(\sin \theta' - \sqrt{\lambda^2 - 1} \cos \theta' \right)
\end{aligned}$$

and so

$$|x^*(y) - y^*(x)| \leq \sqrt{1 - \frac{1}{\lambda^2}} |\sin \theta' - \sqrt{\lambda^2 - 1} \cos \theta'|.$$

We define a function

$$g(t) = \sin t - \sqrt{\lambda^2 - 1} \cos t.$$

The derivative of g is $g'(t) = \cos t + \sqrt{\lambda^2 - 1} \sin t$ and so

$$\begin{aligned}
g'(\pi - \theta_\lambda) &= -\cos \theta_\lambda + \sqrt{\lambda^2 - 1} \sin \theta_\lambda \\
&= -\frac{1}{\lambda} + \sqrt{\lambda^2 - 1} \sqrt{1 - \frac{1}{\lambda^2}} = \frac{\lambda^2 - 2}{\lambda}.
\end{aligned}$$

Let $\lambda \geq \sqrt{2}$. Then $g'(t) > 0$ for all $\theta_\lambda < t < \pi - \theta_\lambda$. This implies that g is strictly increasing on $(\theta_\lambda, \pi - \theta_\lambda)$ and so

$$g(t) \leq g(\pi - \theta_\lambda) = 2\sqrt{1 - \frac{1}{\lambda^2}}$$

for all $\theta_\lambda \leq t \leq \pi - \theta_\lambda$. Moreover, $g(\theta_\lambda) = 0$. Hence

$$|x^*(y) - y^*(x)| \leq \sqrt{1 - \frac{1}{\lambda^2}} \cdot 2\sqrt{1 - \frac{1}{\lambda^2}} = 2 \left(1 - \frac{1}{\lambda^2} \right).$$

Thus

$$s(X, x, y) \leq 2 \left(1 - \frac{1}{\lambda^2} \right).$$

Let $\lambda < \sqrt{2}$. Then g is strictly increasing on (θ_λ, t_0) and is strictly decreasing on $(t_0, \pi - \theta_\lambda)$, where t_0 is the unique solution of $g'(t) = 0$ ($\theta_\lambda < t < \pi - \theta_\lambda$), that is, $t_0 = \cos^{-1} \left(-\sqrt{1 - \frac{1}{\lambda^2}} \right)$. From $\cos t_0 = -\sqrt{1 - \frac{1}{\lambda^2}}$ and $\sin t_0 = \frac{1}{\lambda}$, we have

$$g(t) \leq g(t_0) = \frac{1}{\lambda} - \sqrt{\lambda^2 - 1} \cdot \left(-\sqrt{1 - \frac{1}{\lambda^2}} \right) = \lambda$$

for all $\theta_\lambda \leq t \leq \pi - \theta_\lambda$. Hence,

$$|x^*(y) - y^*(x)| \leq \sqrt{1 - \frac{1}{\lambda^2}} \cdot \lambda = \sqrt{\lambda^2 - 1}.$$

Moreover, we have equality in above when $t = t_0$ and $\mu = 0$. Thus we obtain

$$s(X, x, y) \leq \sqrt{\lambda^2 - 1}.$$

In particular, $s(X, x, y) = \sqrt{\lambda^2 - 1}$, whenever $x = z(\theta_\lambda)$ and $y = z(t_0)$.

Case 3: $\theta = \theta_\lambda$, $\theta' = \pi - \theta_\lambda$. Note that $x = \left(\frac{1}{\lambda}, \sqrt{1 - \frac{1}{\lambda^2}}\right)$ and $y = \left(-\frac{1}{\lambda}, \sqrt{1 - \frac{1}{\lambda^2}}\right)$. By Lemma 2.4, we have $x^* = \left(\frac{\mu}{\lambda} + (1 - \mu)\lambda, \mu\sqrt{1 - \frac{1}{\lambda^2}}\right)$ and $y^* = \left(-\frac{\mu'}{\lambda} - (1 - \mu')\lambda, \mu'\sqrt{1 - \frac{1}{\lambda^2}}\right)$, where $0 \leq \mu, \mu' \leq 1$. Then

$$\begin{aligned} & x^*(y) - y^*(x) \\ &= \left\langle \left(\frac{\mu}{\lambda} + (1 - \mu)\lambda, \mu\sqrt{1 - \frac{1}{\lambda^2}}\right), \left(-\frac{1}{\lambda}, \sqrt{1 - \frac{1}{\lambda^2}}\right) \right\rangle \\ &\quad - \left\langle \left(-\frac{\mu'}{\lambda} - (1 - \mu')\lambda, \mu'\sqrt{1 - \frac{1}{\lambda^2}}\right), \left(\frac{1}{\lambda}, \sqrt{1 - \frac{1}{\lambda^2}}\right) \right\rangle \\ &= \left(\frac{\mu}{\lambda} + (1 - \mu)\lambda\right) \left(-\frac{1}{\lambda}\right) + \mu\sqrt{1 - \frac{1}{\lambda^2}}\sqrt{1 - \frac{1}{\lambda^2}} \\ &\quad - \left(-\frac{\mu'}{\lambda} - (1 - \mu')\lambda\right) \frac{1}{\lambda} - \mu'\sqrt{1 - \frac{1}{\lambda^2}}\sqrt{1 - \frac{1}{\lambda^2}} \\ &= 2(\mu - \mu') \left(1 - \frac{1}{\lambda^2}\right) \end{aligned}$$

and so

$$|x^*(y) - y^*(x)| \leq 2 \left(1 - \frac{1}{\lambda^2}\right).$$

We have equality in above when $\mu = 1$ and $\mu' = 0$. Therefore

$$s(X, x, y) = 2 \left(1 - \frac{1}{\lambda^2}\right).$$

Case 4: $\theta_\lambda < \theta < \pi - \theta_\lambda$, $\theta' = \pi - \theta_\lambda$. By an argument similar to that in Case 2, it follows that $s(X, x, y) \leq 2 \left(1 - \frac{1}{\lambda^2}\right)$ if $\lambda \geq \sqrt{2}$, and $s(X, x, y) \leq \sqrt{\lambda^2 - 1}$ if $\lambda < \sqrt{2}$.

By $2\left(1 - \frac{1}{\lambda^2}\right) \leq \sqrt{\lambda^2 - 1}$ for all $\lambda > 1$, this completes the proof. \square

3. APPLICATIONS

The following is due to Baronti-Papini [2].

Proposition 3.1 ([2]). *For any Banach space X ,*

$$(3.1) \quad s(X) \leq 2\rho_X(1).$$

If X is uniformly convex, then the inequality (3.1) is strict ([8], cf.[5]). If X is not uniformly non-square, then $s(X) = 2\rho_X(1) = 2$. There exists a uniformly non-square (not uniformly convex) Banach space X such that $s(X) = 2\rho_X(1)$. In fact, if X is Day-James space $\ell_\infty\text{-}\ell_1$, then $s(X) = 2\rho_X(1) = 1$. As in [7], it was shown that if X is Day-James space $\ell_p\text{-}\ell_1$, where $1 < p < \infty$, then the inequality

(3.1) is strict. We discuss the inequality (3.1) for the case $X = \mathbb{R}_\lambda^2$. The *James type constant* $J_{X,t}(\tau)$ for a Banach space X is defined by

$$J_{X,t}(\tau) = \sup \left\{ \left(\frac{\|x + \tau y\|^t + \|x - \tau y\|^t}{2} \right)^{1/t} : x, y \in S_X \right\},$$

where $\tau \geq 0$ and $-\infty \leq t < \infty$ ([10]). Note that $\rho_X(1) = J_{X,1}(1) - 1$. C. Yang-X. Yang [12] introduced the *Banaś-Frączek type space* $X_{\lambda,p}$, i.e., \mathbb{R}^2 with the norm $\|\cdot\|_{\lambda,p}$ defined by

$$\|(x, y)\|_{\lambda,p} = \max\{\lambda|x|, \|(x, y)\|_p\},$$

where $\lambda > 1$ and $p \geq 1$. Note that $X_{\lambda,2} = \mathbb{R}_\lambda^2$.

Theorem 3.2 ([12], Theorem 2.3). *Let $p \geq 2$, $\lambda > 1$.*

(i) *If $t \geq p$, then*

$$(3.2) \quad J_{X_{\lambda,p},t}(1) = 2^{1-\frac{1}{t}} \left(1 + \left(1 - \frac{1}{\lambda^p} \right)^{\frac{t}{p}} \right)^{\frac{1}{t}}$$

(ii) *If $t < p$ and $\lambda^p \leq 1 + \lambda^{\frac{tp}{t-p}}$, then*

$$J_{X_{\lambda,p},t}(1) = 2^{1-\frac{1}{t}} \lambda \left(1 + \lambda^{\frac{tp}{t-p}} \right)^{\frac{1}{t} - \frac{1}{p}}$$

(iii) *If $t < p$ and $\lambda^p \geq 1 + \lambda^{\frac{tp}{t-p}}$, then (3.2) is also valid.*

In particular,

Corollary 3.3. *Let $X = \mathbb{R}_\lambda^2$, where $\lambda > 1$.*

(i) *If $\lambda \leq \sqrt{\frac{1+\sqrt{5}}{2}}$, then $\rho_X(1) = \sqrt{\lambda^2 + 1} - 1$.*

(ii) *If $\lambda \geq \sqrt{\frac{1+\sqrt{5}}{2}}$, then $\rho_X(1) = \sqrt{1 - \frac{1}{\lambda^2}}$.*

By this result and Theorem 2.5 we obtain the following.

Corollary 3.4. *Let $X = \mathbb{R}_\lambda^2$, where $\lambda > 1$. Then $s(X) < 2\rho_X(1)$.*

REFERENCES

- [1] J. Banaś and K. Frączek, *Deformation of Banach spaces*, Comment. Math. Univ. Carolin. **34** (1993), 47–53.
- [2] M. Baronti and P. L. Papini, *Projections, skewness and related constants in real normed spaces*, Math. Pannonica, **3** (1992), 31–47.
- [3] S. Fitzpatrick and B. Reznick, *Skewness in Banach spaces*, Trans. Amer. Math. Soc., **275** (1983), 587–597.
- [4] M. Kato, L. Maligranda and Y. Takahashi, *On James and Jordan–von Neumann constants and the normal structure coefficient of Banach spaces*, Stud. Math., **144** (2001), 275–295.
- [5] K.-I. Mitani and K.-S. Saito, *A note on relations between skewness and geometrical constants of Banach spaces*, Linear Nonlinear Anal., **7** (2021), 257–264.
- [6] K.-I. Mitani, K.-S. Saito and N. Komuro, *Extremal structure of absolute norms and the skewness*, Linear Nonlinear Anal., **1** (2015), 159–167.
- [7] K.-I. Mitani, K.-S. Saito and N. Komuro, *Skewness of Day-James spaces*, Ann. Funct. Anal., **13** (2022), Article number:75.

- [8] K.-I. Mitani, K.-S. Saito and Y. Takahashi, *Skewness and James constant of Banach spaces*, J. Nonlinear Convex Anal., **14** (2013), 115–122.
- [9] R. K. Ritt, *A generalization of inner product*, Michigan Math. J., **3** (1955), 23–26.
- [10] Y. Takahashi, *Some geometric constants of Banach spaces unified approach*, Banach and function spaces II, Yokohama Publ., Yokohama, 2007, pp. 191–220.
- [11] C. Yang, *Jordan-von Neumann constant for Banaś-Frączek space*, Banach J. Math. Anal. **8** (2014), 185–192.
- [12] C. Yang and X. Yang, *On the James type constant and von Neumann-Jordan constant for a class of Banaś-Frączek type spaces*, J. Math Inequal., **10** (2016), 551–558.

Manuscript received 28 December 2023
revised 10 January 2024

KEN-ICHI MITANI

Department of Systems Engineering, Okayama Prefectural University, Soja 719-1197, Japan

E-mail address: mitani@cse.oka-pu.ac.jp